
    

Solve:            

1)  4(2x – 1) – 5x = 2 +4(3 – x)   2)  െ2 ൌ ଵଷ

ସ௬ାଵ
  

 

 

 

3ሻ   ଷ

଻ି௫
ൌ ହ

௫ାଵ
     4) 4x2 = 100 

 

 

 

Graph: 

5) y = 3x – 1 if x > -2   6) x = -3    7) y = -x – 4   

 

 

 

 

 

           D: 

           R:  

State the Domain and range in both set and interval notation 

8) 

          D: 

          R: 

 

 

Solve the following systems: 

9)  y = 3x – 2        10)  2x – 3y = –2     11)  7x + 2y = 16 
     y = –x – 6         4x +  y = 24      -21x – 6y = 24 
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12) 
5𝑥 െ 3 ൌ 7

3𝑥 ൅ 5𝑦 െ 4𝑧 ൌ െ13
𝑥 െ 3𝑦 ൅ 5𝑧 ൌ 16

 

 
 
 
 
 
 
13) Christina has seven bills in her wallet, and they are either fives or tens.  The total value of the bills is 
$55.  How many of each type of bill does she have? 
 
 
 
 
Graph the following and state the Domain and Range in both set and interval notation 
 

14)    𝑔ሺ𝑥ሻ ൌ െ2|𝑥 െ 1| ൅ 5        15)  y = 
ଵ

ଷ
ሺ𝑥 ൅ 4ሻ ൅ 2 

 
 
 
 
 
 
 
 
 
 
 
 
D:       D: 
 
R:       R: 
 
 
16) ℎሺ𝑥ሻ ൌ 3ሺ𝑥 െ 2ሻ െ 5   17)  Graph the piecewise function: 
 

       𝑦 ൌ ቐ
െ ଵ

ସ
𝑥 െ 2   if 𝑥 ൑ െ4

3    if െ 4 ൏ 𝑥 ൏ 3
|𝑥 െ 4|   if 𝑥 ൒ 3

  

    D: 
 
    R:  
      
 
 
 
 
 
 



    

18) Write the equations of the piecewise function  19)  State the D & R in both interval and set notation: 
 

 
 
          
           D: 
 
          
           R: 
 
 
 
 

20)What is the range of the function shown?   
 
 a)  ሺെ∞, 4ሿ 
 b)  ሾ4,∞ሻ 
 c)  ሺെ∞,െ2ሿ 
 d)  ሾെ2,∞ሻ 
 e)  ሺെ∞,∞ሻ 
 
 
 
21)The function y = x is transformed with a horizontal shift to the right 3 units, a vertical reflection, and a 
vertical stretch by a factor of 2.  Which of the following shows the new equation of the function?   
      
 

A)  y = 2(x + 3) – 1  
 B)  y = -2x + 3 
 C)  y = -(x – 3) + 2 
 D)  y = -2(x – 3) 
 
 

22) Solve:  െହ

଺
𝑥 ൅ 3 ൌ െ9 

 
 
 
 
 
 
23) Graph the piecewise function:  

ℎሺ𝑥ሻ ൌ ൝
|𝑥 ൅ 4| െ 3 if 𝑥 ൏  െ2

1 if െ 2 ൑ 𝑥 ൑ 3
െ2𝑥 ൅ 5  if 𝑥 ൐ 3

 


